
13 4 5

2X

6

2

8

9

112X

13

7

10

122X

14

15 7

1716

172X

18

19

22

20

212X

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A 9/15/2017

D

C

B

AA

B

C

D

12345678

8 7 6 5 4 3 2 1

---

---

MPC

NAME

THE SUBJECT MATTER SHOWN AND 
DESCRIBED IN THIS DRAWING AND ANY 
OTHER INFORMATION ADVANCED IN 
CONNECTION THEREWITH, IS 
PROPRIETARY PROPERTY AND IS TO BE 
HELD IN STRICT CONFIDENCE BY YOU. 
ALL RIGHTS TO ANY INVENTIONS, 
DESIGNS, TRADE MARKS, TRADE 
NAMES AND COPYRIGHTS DISCLOSED 
ARE RESERVED TO TICO TERMINAL 
SERVICES, INC.

DIMENSIONS ARE IN INCHES
TOLERANCES:
DECIMAL:

X.X   0.06
X.XX   0.03
X.XXX   0.005

ANGULAR:          0.5
FRACTIONAL       1/32"

INTERPRET GEOMETRIC TOLERANCING
PER: ASME 14.5M-1994

MATERIAL

FINISH

N/A

N/A

DRAWN

CHECKED

APPROVED

DATE TICO/TERMINAL SERVICE
66 CYPRESS RIDGE DR.
RIDGELAND, SC 29936
(843) 717-2226

TITLE:

SIZE

B
DWG.  NO. REV

WEIGHT: SCALE: 1:15

---

---

01/31/2018

SHEET 1 OF 1

721867-B1

DO NOT SCALE DRAWING

A

ASSEMBLY, SEAT

N/A
THICKNESS



ITEM PART # QTY DESCRIPTION

721867‐B1 REF SEAT, 2017‐III, BOSTROM BAJA, MID BACK, BLACK CLOTH, LH ARM RES

1 91565 1 SEAT, AIR, BOSTROM/BAJA, BLACK VINYL, MID BACK

2 91566 1 ARM REST, BOSTROM, BLACK VINYL (LEFT‐HAND)

3 122366 1 FLOOR MAT, CAB, DIAMOND PATTERN STYLE

4 82383 4 BOLT, HEX ‐ SEAT TO FLOOR 3/8‐16 X 1 1/4 LG

5 85036 4 NUT, LOCK ‐ 3/8‐16

6 85113 8 WASHER 3/8

7 920315 1 SEAT BELT ASSEMBLY, KOMFORT LATCH, 3 POINT, ORANGE (WITH SW

8 920316 1 TETHER, SEAT, ADJUSTABLE, 15 LONG

9 85385 2 BOLT, HEX TETHER TO FLOOR 1/2‐13 X 1 1/4 LG

10 82813 2 BOLT, HEX ‐ BELT/TETHER TO SEAT 7/16‐20 X 1 1/2 LG

11 85115 4 WASHER 1/2

12 85114 2 WASHER, FLAT, 7/16

13 85038 1 LOCKNUT, NYLON, 1/2‐13

14 85081 1 LOCKNUT, NYLON, 7/16‐14

15 40416 1 MOUNT, SHOULDER HARNESS

16 82384 1 BOLT, HEX HEAD, 7/16‐14 X 1‐1/4 LONG

17 85114 3 WASHER, FLAT, 7/16

18 85026 1 LOCKNUT, NYLON, 7/16‐14

19 85081 1 LOCKNUT, NYLON, 7/16‐20 (SHOULDER STRAP TO CAB)

20 40829 1 FITTING, BULKDHEAD, BRASS, 1/4"

21 40855 2 FITTING, ELBOW, 90°, BRASS, 1/4 NPT

22 11003 20 IN TUBING, AIR, NYLON, AIR, BLACK, 1/4"

REV DATE BY SHEET 1

A 6/14/2018 MAL OF 1

TICO MANUFACTURING ‐ RIDGELAND, SC  29936

721867

NOTE

TICO PRO‐SPOTTER
SEAT, 2017‐III, BOSTROM BAJA, MID BACK, BLACK CLOTH, LH ARM REST, W/ISOLATOR


	Sheet1
	Drawing View1
	Drawing View6
	Drawing View7
	Drawing View8




